ﬂh Matching Inequalities to Numberlines Name:

Solve each problem. Answers
1) Which option best shows X > -16 2) Which option best shows X >-11
-19 -18 -17 -16 -15 -14 -13 13 -12 -1 -10 -9 1
A. A ¢4+—t—O0—F—b '
-19 -18 -17 -16 -15 -14 -13 13 -12 -1 -10 -9
B. ¢+—t—vi—9—+—1— B. ¢+—t—@—F— 2.
-19 -18 -17 -16 -15 -14 -13 13 -12 -1 -10 -9
C. cC. +—F+—O0—t—>» 3,
-19 -18 -17 -16 -15 -14 -13 13 -12 -1 -10 -9
D. D. +——@—t—>
4,
5.
3) Which option best shows X < -18 4) Which option best shows X > -19
20 -19 -18 -17 -16 22 -21 -20 -19 -18 -17 -16 5
A ¢+—t—0O0——F—b A. '
20 -19 -18 -17 -16 22 -21 -20 -19 -18 -17 -16
B. ¢+t @ ——1 B. 7.
20 -19 -18 -17 -16 22 -21 -20 -19 -18 -17 -16
C. +—F—O0——+— C. ¢+—F—+—-O—t—t—t> 8
20 -19 -18 -17 -16 22 -21 -20 -19 -18 -17 -16
D. +——@—t—> D.
5) Which option best shows X < -15 6) Which option best shows X <13
17 -16 -15 -14 -13 10 11 12 13 14 15 16
A ¢+—t—0O0——F—b A.
17 -16 -15 -14 -13 10 11 12 13 14 15 16
B. ¢4+——"t—" —"— B. <+—t—i—=@—1—1—
17 -16 -15 -14 -13 10 11 12 13 14 15 16
C. ¢+—F—O0—t—» C.
17 -16 -15 -14 -13 10 11 12 13 14 15 16
D. +——@—t—> D.
7) Which option best shows X > -18 8) Which option best shows X < -6
21 -20 -19 -18 -17 -16 9 8 -7 6 -5 -4 -3
A. A.
21 -20 -19 -18 -17 -16 9 8 -7 6 -5 -4 -3
B. ¢t @——> B. <+—t—i—@ —1+——1—
21 -20 -19 -18 -17 -16 9 8 -7 6 -5 -4 -3
C. C. +——FH—F—0—4+—+—
21 -20 -19 -18 -17 -16 9 8 -7 6 -5 -4 -3
D. D. 4+—F+—1+—@—+—+—
1-8 |88]75]63]|50|38[25]13] 0 |
Math www.CommonCoreSheets.com 1




ﬂh Matching Inequalities to Numberlines Name. Answer Key

Solve each problem. Answers
1) Which option best shows X > -16 2) Which option best shows X >-11
-19 -18 -17 -16 -15 -14 -13 13 12 <11 <10 -9 1 C
A. A ¢4+—t—O0—F—b L e—
-19 -18 -17 -16 -15 -14 -13 13 <12 <11 <10 -9 D
B. <++—t—"ab—@—1—1—» B. ¢+—t—@—F— 2.
-19 -18 -17 -16 -15 -14 -13 13 12 <11 <10 -9
C. C. ¢——F—O—etip 3 B
-19 -18 -17 -16 -15 -14 -13 13 12 <11 <10 -9
D. D. +—F—@—+— C
4.
5 A
3) Which option best shows X < -18 4) Which option best shows X > -19
20 -19 -18 -17 -16 -22 -21 -20 -19 -18 -17 -16 6 B
A ¢+—t—0O0——F—b A. C—
20 -19 -18 -17 -16 -22 -21 -20 -19 -18 -17 -16 C
B. ¢+t @ ——1 B. 7.
20 -19 -18 -17 -16 -22 -21 -20 -19 -18 -17 -16
C. ¢+—F+—O—t—i> C. ¢+—+—+—O—t—i—ti» g A
20 -19 -18 -17 -16 -22 -21 -20 -19 -18 -17 -16
D. 4+——@—+—H D.
5) Which option best shows X < -15 6) Which option best shows X <13
17 -16 <15 14 -13 10 11 12 13 14 15 16
A ¢+—t—0O0——F—b A.
17 <16 <15 -14  -13 10 11 12 13 14 15 16
B. ¢4+——"t—" —"— B. <+—t—i—=@—1—1—
17 <16 <15 -14  -13 10 11 12 13 14 15 16
C. ¢+—F—O0—t—» C.
17 <16 <15 -14  -13 10 11 12 13 14 15 16
D. 4+——@—+—H D.
7) Which option best shows X > -18 8) Which option best shows X < -6
21 -20 -19 -18 -17 -16 9 8 -7 -6 5 -4 -3
A. A.
21 -20 -19 -18 -17 -16 9 8 -7 -6 5 -4 -3
B. «#¢—t—i—=@®——» B. <+—t——i—@——"=1—
21 -20 -19 -18 -17 -16 9 8 -7 -6 5 -4 -3
C. Cc. 4+——1——O0—t+—t+—
21 -20 -19 -18 -17 -16 9 8 -7 -6 5 -4 -3
D. D. +——F—""F—@—+—+—H
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ﬂh Matching Inequalities to Numberlines Name:

Solve each problem. Answers
1) Which option best shows X > -8 2) Which option best shows X < -3
11 -10 -9 -8 -7 -6 6 5 -4 -3 2 -1 0 1
A. A. '
11 -10 -9 -8 -7 -6 6 5 -4 -3 2 -1 0
B. ¢<+—t——i—=@——1» B. <+—t——i—@——"=1— 2.
11 -10 -9 -8 -7 -6 6 5 -4 -3 2 -1 0
C. ¢——F+—F+—O0—t— C. ¢+——F—F+—-O0—t—+— 3,
11 -10 -9 -8 -7 -6 6 5 -4 -3 2 -1 0
D. 4+—"F—"1T—@—F+—> D. +—F—F—@—+—+—>
4,
5.
3) Which option best shows X < 19 4) Which option best shows X < 3
16 17 18 19 20 21 22 1 2 3 4 5 6 5
A. A. '
16 17 18 19 20 21 22 1 2 3 4 5 6
B. B. ¢+—t—@—1—1— 7.
16 17 18 19 20 21 22 1 2 3 4 5 6
Cc. 4+——1——-O0—4+—t+— Cc. 4+—F—0—t—t—4» 8.
16 17 18 19 20 21 22 1 2 3 4 5 6
D. D. 4+—F—@——+—
5) Which option best shows X < 2 6) Which option best shows X > 2
o 1 2 3 4 o 1 2 3 4
A. A.
o 1 2 3 4 o 1 2 3 4
B. ¢4+——"t—" —"— B. +——@—1+—
o 1 2 3 4 o 1 2 3 4
C. ¢+—F—O0—t—» C. ¢+—F—O0—t—»
o 1 2 3 4 o 1 2 3 4
D. +—F—@—+— D. +—F—@—+—
7) Which option best shows X > 12 8) Which option best shows X < -19
9 10 11 12 13 14 .22 -21 -20 -19 -18 -17 -16
A. A.
9 10 11 12 13 14 .22 -21 -20 -19 -18 -17 -16
B. ¢<+—t——i—=@——1» B. <+—t——i—@——"=1—
9 10 11 12 13 14 .22 -21 -20 -19 -18 -17 -16
C. C.
9 10 11 12 13 14 .22 -21 -20 -19 -18 -17 -16
D. D.
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ﬂh Matching Inequalities to Numberlines Name. Answer Key

Solve each problem. Answers
1) Which option best shows X > -8 2) Which option best shows X < -3
11 -10 -9 8 -7 -6 6 5 -4 3 -2 -1 0 1 C
A. A. e
11 -10 -9 -8 -7 -6 6 5 -4 -3 2 -1 0 B
B. ¢<+—t——i—=@——1» B. <+—t——i—@——"=1— 2.
11 -10 -9 -8 -7 -6 6 5 -4 -3 2 -1 0
C. +—+—+—O0—+—h C. ¢ttty 3 B
11 -10 -9 -8 -7 -6 6 5 -4 -3 2 -1 0
. ——— Ot . H—F—F—O——1
D D 4. A
5 B
3) Which option best shows X < 19 4) Which option best shows X < 3
16 17 18 19 20 21 22 1 2 3 4 5 6 5 C
A. A. C—
16 17 18 19 20 21 22 1 2 3 4 5 6 C
B. B. +—t—@—F—1— 7.
16 17 18 19 20 21 22 1 2 3 4 5 6
C. ¢+—+—+—O—t—t—ti» C. +—+—O—dtt—i> g A
16 17 18 19 20 21 22 1 2 3 4 5 6
D. D. +—F——+—+—
5) Which option best shows X < 2 6) Which option best shows X > 2
o 1 2 3 4 o 1 2 3 4
A. A.
o 1 2 3 4 o 1 2 3 4
B. ¢4+——"t—" —"— B. +——@—1+—
o 1 2 3 4 o 1 2 3 4
C. ¢+—F—O0—t—» C. ¢+—F—O0—t—
o 1 2 3 4 o 1 2 3 4
D. +—F—@—+— D. +—F—@—+—
7) Which option best shows X > 12 8) Which option best shows X < -19
9 10 11 12 13 14 .22 -21 -20 -19 -18 -17 -16
A. A.
9 10 11 12 13 14 .22 -21 -20 -19 -18 -17 -16
B. ¢<+—t——i—=@——1» B. <+—t——i—@——"=1—
9 10 11 12 13 14 .22 -21 -20 -19 -18 -17 -16
C. C.
9 10 11 12 13 14 .22 -21 -20 -19 -18 -17 -16
D. D.
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ﬂ; Matching Inequalities to Numberlines Name:

Solve each problem. Answers
1) Which option best shows X > 8 2) Which option best shows X > -15
6 7 8 9 10 -18 -17 -16 -15 -14 -13 -12 1
A. ¢+——at—-sO0—— A. ¢——t—tp—mO——1—1> '
6 7 8 9 10 -18 -17 -16 -15 -14 -13 -12
B. ¢+——t—" —1— B. <+—t—i—=@—1—1— 2,
6 7 8 9 10 -18 -17 -16 -15 -14 -13 -12
C. +—F—O0—t—> C. ¢+——F—F+—-O0—t—+— 3,
6 7 8 9 10 -18 -17 -16 -15 -14 -13 -12
D. 4+—F—@—+— D.
4,
5.
3) Which option best shows X =2 4) Which option best shows X < 15
0 1 2 3 4 5 13 14 15 16 17 5
A. ¢——t—=O—F—F— A +—t—0O0—F— ‘
0 1 2 3 4 5 13 14 15 16 17
B. +—t—@—F—1— B. 4+—vt—@—— 7.
0 1 2 3 4 5 13 14 15 16 17
C. ¢+—"F—"0—t—t—1> C. ¢+—F+—O——t— 8.
0 1 2 3 4 5 13 14 15 16 17
D. ¢——@—t—vut—rip D. +—F—@——
5) Which option best shows X <5 6) Which option best shows X <9
3 4 5 6 7 7 8 9 10 11
A +—t—0O0—F— A.
3 4 5 6 7 7 8 9 10 11
B. ¢4+——"t—" —"— B. ¢+—t—@—F—
3 4 5 6 7 7 8 9 10 11
C. ¢+—F—O0—t—» C. ¢+—F—O0—t—»
3 4 5 6 7 7 8 9 10 11
D. +—F—@—+— D. +—F—@—+—
7) Which option best shows X > 7 8) Which option best shows X > -2
5 6 7 8 9 10 4 -3 2 -1 0
A ¢4+—t—0O0—F+—"F— A.
5 6 7 8 9 10 4 -3 2 -1 0
B. <+——t—@—F—F—1 B. ¢+—t—@—F—
5 6 7 8 9 10 4 -3 2 1 0
C. +—1T—0—t——ti—ip C. +—F—O0—t—>
5 6 7 8 9 10 4 -3 2 1 0
D. ¢——@—t—d—rip D. +—F—@—+—
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Matching Inequalities to Numberlines Name. Answer Key
Solve each problem. Answers
1) Which option best shows X > 8 2) Which option best shows X > -15
6 7 8 9 10 -18 -17 -16 -15 -14 -13 -12 1 D
A. A. o
6 7 8 9 10 -18 -17 -16 -15 -14 -13 -12 C
B. +——@—1+— B. 4+—t—1@1+—+— 2
6 7 8 9 10 -18 -17 -16 -15 -14 -13 -12
C. —F+—O—+—h C. 3 D
6 7 8 9 10 -18 -17 -16 -15 -14 -13 -12
D.« | &—b D. B
4,
5 B
3) Which option best shows X =2 4) Which option best shows X < 15
0O 1 2 3 4 5 13 14 15 16 17 & B
A. A ¢+——F—O0—~1+— C—_—
0O 1 2 3 4 5 13 14 15 16 17 D
B. 4#——t+—@—1+—1+—1 B. +——@—1+— 7.
0O 1 2 3 4 5 13 14 15 16 17
C. ¢——O—tt—ei> cC. +—F—O0o—+—bH 8 D
0O 1 2 3 4 5 13 14 15 16 17
D. 4+—F—@—+—+— D. +—F—@—+—
5) Which option best shows X <5 6) Which option best shows X <9
3 4 5 6 7 7 8 9 10 1
A. A.
3 4 5 6 7 7 8 9 10 1
B. +——@—1+— B. +——@—1+—
3 4 5 6 7 7 8 9 10 1
C. ¢+—F1—O——t—ip C. +—F—O0—+—
3 4 5 6 7 7 8 9 10 1
D. +—F—@—+— D. +—F—@—+—
7) Which option best shows X > 7 8) Which option best shows X > -2

5 6 7
A.

Math

8 9 10

8 9 10

4 3 2 -1 0
A.
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Matching Inequalities to Numberlines Name:
Solve each problem. Answers
1) Which option best shows X <5 2) Which option best shows X < 20
2 3 4 5 6 7 18 19 20 21 22 1
A. A ¢4+—t—O0—F—b '
2 3 4 5 6 7 18 19 20 21 22
B. <++——t—t—@——1» B. ¢+—t—@—F— 2,
2 3 4 5 6 7 18 19 20 21 22
C. ¢——F+—F+—O0—t— C. +——O0—t—> 3.
2 3 4 5 6 7 18 19 20 21 22
D. —"F—"1—@—t—rt> D. +—F—@—+—
4.
5.
3) Which option best shows X < 11 4) Which option best shows X < -14
9 10 11 12 13 14 -16 -15 -14 -13 -12 -11 5
A. A ¢+—t+—0—F——"—F—b '
9 10 11 12 13 14 -16 -15 -14 -13 -12 -11
B. B. ¢+—t—@—1—1— 7.
9 10 11 12 13 14 -16 -15 -14 -13 -12 -11
C. +—F+—O0—F+——h C. +—F+—O0—F+——h 8
9 10 11 12 13 14 -16 -15 -14 -13 -12 -11
D. D.
5) Which option best shows X > 18 6) Which option best shows X > -9
6 17 18 19 20 12 -11 -10 -9 -8 -7 -6
A ¢+—t—0O0——F—b A.
6 17 18 19 20 12 -11 -10 -9 -8 -7 -6
B. ¢4+——"t—" —"— B. <+—t—i—=@—1—1—
6 17 18 19 20 12 -11 -10 -9 -8 -7 -6
C. ¢+—F—O0—t—» C.
6 17 18 19 20 12 -11 -10 -9 -8 -7 -6
D. +—+—@—+—> D.
7) Which option best shows X < 17 8) Which option best shows X < -17
14 15 16 17 18 19 20 19 -18 -17 -16 -15 -14
A. A.
14 15 16 17 18 19 20 19 -18 -17 -16 -15 -14
B. ¢+—t—vi—9—+—1— B. ¢+—t—@—F—F—
14 15 16 17 18 19 20 19 -18 -17 -16 -15 -14
C. C.
14 15 16 17 18 19 20 19 -18 -17 -16 -15 -14
D. D.
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ﬂh Matching Inequalities to Numberlines Name. Answer Key

Solve each problem.

1) Which option best shows X <5

2 3 4 5 6 7
A.

3) Which option best shows X < 11

9 10 11 12 13 14
A.

9 10 11 12 13 14
B.

9 10 11 12 13 14
C. +—"F—O0—+—+—

9 10 11 12 13 14
D.

5) Which option best shows X > 18

16 17 18 19 20
A 4+—+—O0—"F—

16 17 18 19 20
B. ¢—r—@—F—H

16 17 18 19 20
C. ¢+—F—O=—tmtp

16 17 18 19 20
D. 4+—F—@—t——tip

7) Which option best shows X < 17

14 15 16 17 18 19 20
A.

14 15 16 17 18 19 20
B. 4+—+——0+—+—1

14 15 16 17 18 19 20
C.

14 15 16 17 18 19 20
D.

2)

4)

6)

8)

Which option best shows X < 20

18 19 20 21 22
A ¢+——t—O0—F+—h

18 19 20 21 22
B. +—-t+—@ —F+—h

18 19 20 21 22
C. ¢+—F1—O=—tmtp

18 19 20 21 22
D. 4+—F—@—t——tip

Which option best shows X < -14

16 -15 -14 -13 -12 -11
A.

16 -15 -14 -13 -12 -11
B.

16 -15 -14 -13 -12 -11
C. ¢+—+—O0—tdftp

-16 -15 -14 -13 -12 -11
D.

Which option best shows X > -9
-12 -11 -10 -9 -8 -7 -6
A.
-12 -11 -10 -9 -8 -7 -6
B. ¢+—t—"—@+—F—
-12 -11 -10 -9 -8 -7 -6
C.

-12 -11 -10 -9 -8 -7 -6
D.

Which option best shows X < -17
-19 -18 -17 -16 -15 -14
A.
-19 -18 -17 -16 -15 -14
B. ¢+—t—@—F—F—
-19 -18 -17 -16 -15 -14
C.

-19 -18 -17 -16 -15 -14
D.

Answers
L _A
2 _A
s _A
. B
s D
6. _C
n_A
s _A

Math
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ﬂh Matching Inequalities to Numberlines Name:

Solve each problem. Answers
1) Which option best shows X < 16 2) Which option best shows X < 4
13 14 15 16 17 18 1 2 3 4 5 6 1
A. A. '
13 14 15 16 17 18 1 2 3 4 5 6
B. <+—t—et—=@—1—1» B. <+—t—et—Q—1—1» 2.
13 14 15 16 17 18 1 2 3 4 5 6
C. C. ¢—F+—F+—O0—t— 3,
13 14 15 16 17 18 1 2 3 4 5 6
D. D. +—F—"1T—@—+—>
4,
5.
3) Which option best shows X < -19 4) Which option best shows X > 9
21 -20 -19 -18 -17 7 8 9 10 11 12 5
A +—t—0O0—F— A. '
21 -20 -19 -18 -17 7 8 9 10 11 12
B. ¢++——t—@—F— B. +—t—@—F—1— 7.
21 -20 -19 -18 -17 7 8 9 10 11 12
C. +—F—O0——+— C. +——1—"0——t—t—1> 8.
21 -20 -19 -18 -17 7 8 9 10 11 12
D. +—F—@—— D. 4+—1—@—+—"—>
5) Which option best shows X < 3 6) Which option best shows X > -18
0 1 2 3 4 5 20 -19 -18 -17 -16
A. A +—t—0O0—F—
0 1 2 3 4 5 20 -19 -18 -17 -16
B. <++——t—t—@——1» B. +——@—1+—
0 1 2 3 4 5 20 -19 -18 -17 -16
C. +—F1—+—O—t—tp C. ¢+—F—O0—t—»
0 1 2 3 4 5 20 -19 -18 -17 -16
D. —"F—"1—@=—t—rt> D. +—F—@—+—
7) Which option best shows X < -12 8) Which option best shows X > -3
14 -13 -12 11 -10 6 5 -4 -3 2 -1 0
A 4+—t—0O0—F— A.
14 -13 -12 11 -10 6 5 -4 -3 2 -1 0
B. ¢+——t—" —1— B. <+—t—i—=@—1—1—
14 -13 -12 11 -10 6 5 -4 -3 2 -1 0
C. +—F—O0—t—> C. ¢+——F—F+—-O0—t—+—
14 -13 -12 11 -10 6 5 -4 -3 2 -1 0
D. +—F—@—+— D. +—F—F—@—+—+—>
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ﬂh Matching Inequalities to Numberlines Name. Answer Key

Solve each problem. Answers
1) Which option best shows X < 16 2) Which option best shows X < 4
13 14 15 16 17 18 1 2 3 4 5 6 1 A
A. A. o
13 14 15 16 17 18 1 2 3 4 5 6 A
B. <+—t—et—=@—1—1» B. <+—t—et—Q—1—1» 2.
13 14 15 16 17 18 1 2 3 4 5 6
C. C. —F+—+—O—t—i> 3z A
13 14 15 16 17 18 1 2 3 4 5 6
: . H——F—1+—@—t—
g g o D
5. A
3) Which option best shows X < -19 4) Which option best shows X > 9
21 -20 -19 -18 -17 7 8 9 10 11 12 5 D
A +—t—0O0—F— A. —_—
21 -20 -19 -18 -17 7 8 9 10 11 12 A
B. 4+—vt—@—— B. +—t—@—F—1— 7.
21 -20 -19 -18 -17 7 8 9 10 11 12
C. ¢+—F+—O—t—i> C. +—+—O—tt—ei> 8 D
21 -20 -19 -18 -17 7 8 9 10 11 12
D. +—F—@—— D. 4+—1—@—+—"—>
5) Which option best shows X < 3 6) Which option best shows X > -18
0 1 2 3 4 5 20 -19 -18 -17 -16
A. A.
0 1 2 3 4 5 20 -19 -18 -17 -16
B. <++——t—t—@——1» B. ¢+—t—@—F—
0 1 2 3 4 5 20 -19 -18 -17 -16
C. +—F1—+—O—t—tp C. ¢+—F—O0—t—»
0 1 2 3 4 5 20 -19 -18 -17 -16
D. —"F—"1—@=—t—rt> D. +—F—@—+—
7) Which option best shows X < -12 8) Which option best shows X > -3
14 -13 -12 11 -10 6 5 -4 -3 2 -1 0
A. A.
14 -13 -12 11 -10 6 5 -4 -3 2 -1 0
B. ¢+——t—" —1— B. <+—t—i—=@—1—1—
14 -13 -12 11 -10 6 5 -4 -3 2 -1 0
C. +—F—O0—t—> C. ¢+——F—F+—-O0—t—+—
14 -13 -12 11 -10 6 5 -4 -3 2 -1 0
D. +—F—@—+— D. +—F—F—@—+—+—>
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ﬂh Matching Inequalities to Numberlines Name:

Solve each problem. Answers
1) Which option best shows X > -20 2) Which option best shows X > 12
23 22 -21 -20 -19 -18 10 11 12 13 14 1
A. A ¢+——F—0—~1+— '
23 22 -21 -20 -19 -18 10 11 12 13 14
B. <++——t—t—@——1» B. +——@—1+— 2,
23 22 -21 -20 -19 -18 10 11 12 13 14
C. C. ¢—F—O0——H 3
23 22 -21 -20 -19 -18 10 11 12 13 14
D. D. 4+—F—@—t+—p
4,
5.
3) Which option best shows X < 2 4) Which option best shows X > 19
0O 1 2 3 4 5 17 18 19 20 21 22 5
A. A. '
0O 1 2 3 4 5 17 18 19 20 21 22
B. +—t—@—F—1— B. 7.
0O 1 2 3 4 5 17 18 19 20 21 22
C. +—F+—O0—F+——h C. +—F+—O0—F+——h 8
0O 1 2 3 4 5 17 18 19 20 21 22
D. ¢——@——t—d——tip> D.
5) Which option best shows X = -10 6) Which option best shows X < -14
12 411 <10 -9 -8 16 -15 -14 -13  -12
A. ¢+——at—-0—— A +——F—O0—~1—
12 <11 <10 -9 -8 16 -15 -14 -13  -12
B. ¢4+——"t—" —"— B. +——@—1+—
12 <11 <10 -9 -8 16 -15 -14 -13  -12
C. ¢+—F—O0—t—» C. ¢+—F—O0—t—»
12 <11 <10 -9 -8 16 -15 -14 -13  -12
D. +—F—@—+— D. +—F—@—+—
7) Which option best shows X < 16 8) Which option best shows X < -13
13 14 15 16 17 18 15 14 <13 <12 -1l
A. A ¢+——F—0—~1+—
13 14 15 16 17 18 15 14 <13 <12 -1l
B. <++——t—t—@——1» B. +——@—1+—
13 14 15 16 17 18 15 14 <13 <12 -1l
C. C. 4+—F—O—t=—tip
13 14 15 16 17 18 15 14 <13 <12 -1l
D. D. 4+—F—@—t+—p
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ﬂh Matching Inequalities to Numberlines Name. Answer Key

Solve each problem. Answers
1) Which option best shows X > -20 2) Which option best shows X > 12
-23 -22 -21 -20 -19 -18 10 11 12 13 14 1 C
A. A ¢+——F—0—~1+— e
23 22 -21 -20 -19 -18 10 11 12 13 14 C
B. <++——t—t—@——1» B. +——@—1+— 2,
23 22 -21 -20 -19 -18 10 11 12 13 14
C. C. +—+—O0—F—h 3 B
23 22 -21 -20 -19 -18 10 11 12 13 14
D. D. +————— C
4,
5 D
3) Which option best shows X < 2 4) Which option best shows X > 19
0 1 2 3 4 5 17 18 19 20 21 22 & A
A. A. C—
0 1 2 3 4 5 17 18 19 20 21 22 B
B. +—t—@—F—1— B. 7.
0 1 2 3 4 5 17 18 19 20 21 22
C. +—+—O—dtmet—i> C. +—+—O—tmt—ei> g A
0 1 2 3 4 5 17 18 19 20 21 22
D. ¢——@——t—d——tip> D.
5) Which option best shows X = -10 6) Which option best shows X < -14
12 411 <10 -9 -8 16 -15 -14 -13  -12
A. ¢+——at—-0—— A +——F—O0—~1—
12 <11 <10 -9 -8 16 -15 -14 -13  -12
B. ¢4+——"t—" —"— B. +——@—1+—
12 <11 <10 -9 -8 16 -15 -14 -13  -12
C. ¢+—F—O0—t—» C. ¢+—F—O0—t—»
12 <11 <10 -9 -8 16 -15 -14 -13  -12
D. +—F—@—+— D. +—F—@—+—
7) Which option best shows X < 16 8) Which option best shows X < -13
13 14 15 16 17 18 15 14 <13 <12 -1l
A. A ¢+——F—0—~1+—
13 14 15 16 17 18 15 14 <13 <12 -1l
B. <++——t—t—@——1» B. +——@—1+—
13 14 15 16 17 18 15 14 <13 <12 -1l
C. C. 4+—F—O—t=—tip
13 14 15 16 17 18 15 14 <13 <12 -1l
D. D. 4+—F—@—t+—p
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ﬂh Matching Inequalities to Numberlines Name:

Solve each problem.

1) Which option best shows X < -2
4 3 2 -1 0 1
A.

3) Which option best shows X < -6
9 -8 -7 6 -5 -4
A.

5) Which option best shows X < 11

9 10 11 12 13
A. ¢+——+—O0—F+—h

9 10 11 12 13
B. +—-t+—@—F—h

9 10 11 12 13
C. ¢+—F—O=—tmtp

9 10 11 12 13
D. 4+—F—@—t——tip

7)  Which option best shows X > -4
7 6 5 -4 3 -2 -1
A.
7 6 5 -4 3 -2 -1
B. ¢4+—t—"1—@—+—1—
7 6 5 -4 3 -2 -1
C. ¢—F+—1+—O—t—"t—

7 6 5 -4 -3 -2 -1
D. d+—F—1—@—t—t—tp

Answers
2) Which option best shows X < 16
14 15 16 17 18 19 1
A. '
14 15 16 17 18 19
B. ¢+—t—@—1—1— 2.
14 15 16 17 18 19
C. 3
14 15 16 17 18 19
D.
4,
5.
4) Which option best shows X < 13
11 12 13 14 15 5
A. ¢ttt (——F—» '
11 12 13 14 15
B. ¢+t @ ——1 7.
11 12 13 14 15
C. ——F—O—dtmetip> 8.
11 12 13 14 15
D. ¢—F—@—t—>
6) Which option best shows X < -15
-18 -17 -16 -15 -14 -13 -12
A.
-18 -17 -16 -15 -14 -13 -12
B. <+——t——i—@——"~1—»
-18 -17 -16 -15 -14 -13 -12
C.
-18 -17 -16 -15 -14 -13 -12
D.
8) Which option best shows X > 2
0O 1 2 3 4 5
A.
0O 1 2 3 4 5
B. ¢+—t—@—F——=—
0O 1 2 3 4 5
C. ¢—F—0—t+—t—
0O 1 2 3 4 5
D. 4+—1—@—+—"—>
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Matching Inequalities to Numberlines

Name. Answer Key

Solve each problem. Answers
1) Which option best shows X < -2 2) Which option best shows X < 16
-4 -3 -2 -1 0 1 14 15 16 17 18 19 1 A
A. A. o
4 3 2 -1 0 1 14 15 16 17 18 19 B
B. +—t—@ —F—1— B. ¢+—t—@—F—F— 2.
4 3 2 -1 0 1 14 15 16 17 18 19
C. +—+—O0——+—h C. +—+—O0——+—h 3 A
4 3 2 -1 0 1 14 15 16 17 18 19
D. 4+—F—@—+—F+— D. B
4,
5. A
3) Which option best shows X < -6 4) Which option best shows X < 13
9 8 -7 6 5 -4 1 12 13 14 15 5 B
A. A +—t—0O0—F— —_—
9 8 -7 6 5 -4 1 12 13 14 15 D
B. <++——t—t—@——1» B. ¢+—t—@—F— 7.
9 8 -7 6 5 -4 1 12 13 14 15
C. +—+—+—O0—+—h C. ¢—F—O——t——ip g C
9 8 -7 6 5 -4 1 12 13 14 15
D. —"F—"1—@—t—rti> D. +—F—@——
5) Which option best shows X < 11 6) Which option best shows X < -15
9 10 11 12 13 -18 -17 -16 -15 -14 -13 -12
A. A.
9 10 11 12 13 -18 -17 -16 -15 -14 -13 -12
B. ¢4+——"t—" —"— B. <+—t—i—=@—1—1—
9 10 11 12 13 -18 -17 -16 -15 -14 -13 -12
C. ¢+—F—O0—t—» C.
9 10 11 12 13 -18 -17 -16 -15 -14 -13 -12
D. 4+—F—@—+— D.
7)  Which option best shows X > -4 8) Which option best shows X > 2
7 6 5 -4 -3 -2 -1 0 1 2 3 4 5
A. A.
7 6 5 -4 -3 -2 -1 0 1 2 3 4 5
B. <+—t—vbi—@—1———» B. ¢+—t—@—F—F—
7 6 5 -4 -3 -2 -1 0 1 2 3 4 5
C. ¢+——F+—+—-O0—4+——h C. ¢+—+—O—t—dftp
7 6 5 -4 -3 -2 -1 0 1 2 3 4 5
D. +—F—F—@—+—+—> D. 4+—1—@—+—"—>
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ﬂh Matching Inequalities to Numberlines Name:

Solve each problem. Answers
1) Which option best shows X < 19 2) Which option best shows X > 17
16 17 18 19 20 21 22 15 16 17 18 19 1
A. A ¢¢+——t—-O—F—» '
16 17 18 19 20 21 22 15 16 17 18 19
B. <+—t——i—@——"=1— B. +——t——@—1—1» 2.
16 17 18 19 20 21 22 15 16 17 18 19
C. C. ¢—F—O—t—> 3
16 17 18 19 20 21 22 15 16 17 18 19
D. D. +—F—@—+—
4,
5.
3) Which option best shows X > 14 4) Which option best shows X < 19
12 13 14 15 16 17 16 17 18 19 20 21 22 6
A. A. '
12 13 14 15 16 17 16 17 18 19 20 21 22
B. B. 7.
12 13 14 15 16 17 16 17 18 19 20 21 22
C. ¢——O—t—t—h C. ¢—F—+—O—t——h o
12 13 14 15 16 17 16 17 18 19 20 21 22
D. D.
5) Which option best shows X > -19 6) Which option best shows X > -12
.22 -21 -20 -19 -18 -17 -16 -15 -14 -13 -12 -11 -10 -9
A. A.
.22 -21 -20 -19 -18 -17 -16 -15 -14 -13 -12 -11 -10 -9
B. <+——t——i—@——"~1—» B. <+——t——i—@——"~1—»
-22 -21 -20 -19 -18 -17 -16 -15 -14 -13 -12 -11 -10 -9
C. C.
-22 -21 -20 -19 -18 -17 -16 -15 -14 -13 -12 -11 -10 -9
D. D.
7) Which option best shows X = -10 8) Which option best shows X > -4
12 <11 <10 -9 -8 -7 7 6 5 -4 3 -2 -1
A. A.
12 <11 <10 -9 -8 -7 7 6 5 -4 3 -2 -1
B. <¢+——t—@——~F1— B. <+—t——i—@——"=1—
12 <11 <10 -9 -8 -7 7 6 5 -4 3 -2 -1
C. C. ¢—F+—"1—O=tt—rip-
12 <11 <10 -9 -8 -7 7 6 5 -4 3 -2 -1
D. D. ¢—1—1—@—t——vt—rtip
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ﬂh Matching Inequalities to Numberlines Name. Answer Key

Solve each problem. Answers
1) Which option best shows X < 19 2) Which option best shows X > 17
16 17 18 19 20 21 22 15 16 17 18 19 1 B
A. A ¢4+—t—O0—F—b e
16 17 18 19 20 21 22 15 16 17 18 19 D
B. <++—t—"ab—@—1—1—» B. ¢+—t—@—F— 2.
16 17 18 19 20 21 22 15 16 17 18 19
C. C. +—+—O0—+—h 3 D
16 17 18 19 20 21 22 15 16 17 18 19
D. D. ——F—0——H A
4,
5 C
3) Which option best shows X > 14 4) Which option best shows X < 19
12 13 14 15 16 17 16 17 18 19 20 21 22 6 D
A. A. C—
12 13 14 15 16 17 16 17 18 19 20 21 22 D
B. B. 7.
12 13 14 15 16 17 16 17 18 19 20 21 22
C. +—+—O—tt—ei> C. ¢+—+—+—O—t—t—ti» 8 D
12 13 14 15 16 17 16 17 18 19 20 21 22
D. D.
5) Which option best shows X > -19 6) Which option best shows X > -12
.22 -21 -20 -19 -18 -17 -16 -15 -14 -13 -12 -11 -10 -9
A. A.
.22 -21 -20 -19 -18 -17 -16 -15 -14 -13 -12 -11 -10 -9
B. «#¢—t—i—=@—"———— B. <+——t——i—@——"~1—»
-22 -21 -20 -19 -18 -17 -16 -15 -14 -13 -12 -11 -10 -9
C. C.
-22 -21 -20 -19 -18 -17 -16 -15 -14 -13 -12 -11 -10 -9
D. D.
7) Which option best shows X = -10 8) Which option best shows X > -4
12 <11 <10 -9 -8 -7 7 6 5 -4 3 -2 -1
A. A.
12 <11 <10 -9 -8 -7 7 6 5 -4 3 -2 -1
B. <++—t—@——"F1—1» B. <+—t——i—@——"=1—
12 <11 <10 -9 -8 -7 7 6 5 -4 3 -2 -1
C. Cc. 4+——1——O0—t+—t+—
12 <11 <10 -9 -8 -7 7 6 5 -4 3 -2 -1
D. D. +——F—""F—@—+—+—H
1-8 |88]75]63]|50|38[25]13] 0 |
Math www.CommonCoreSheets.com 8




ﬂ; Matching Inequalities to Numberlines Name:

Solve each problem.

1) Which option best shows X > 7

4 5 6 7 8 9
A.

3) Which option best shows X < 11

9 10 11 12 13
A. ¢+——+—O0—F+—h

9 10 11 12 13
B. +—-t+—@—F—h

9 10 11 12 13
C. ¢+—F—O=—tmtp

9 10 11 12 13
D. 4+—F—@—t——tip

5) Which option best shows X < -1
3 2 -1 0 1 2
A.

7) Which option best shows X < 3

1 2 3 4 5
A.

2) Which option best shows X > 13

10 11 12 13 14 15
A.

10 11 12 13 14 15
B. #———0—+—H

10 11 12 13 14 15
C.

10 11 12 13 14 15
D.

4) Which option best shows X < -20

22 21 -20 -19 -18
A. ¢+——+—O0—F+—h

22 21 -20 -19 -18
B. +—-t+—@—F—h

22 21 -20 -19 -18
C. ¢+—F—O=—tmtp

22 21 -20 -19 -18
D. 4+—F—@—t——tip

6) Which option best shows X < 7

5 6 7 8 9 10
A.

5 6 7 8 9 10

8) Which option best shows X > 4

1 2 3 4 5 6
A.

Answers

Math
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Matching Inequalities to Numberlines

Name. Answer Key

Solve each problem.

1) Which option best shows X > 7

4 5 6 7 8 9
A.

3) Which option best shows X < 11

9 10 11 12 13
A. ¢+——+—O0—F+—h

9 10 11 12 13
B. +—-t+—@—F—h

9 10 11 12 13
C. ¢+—F—O=—tmtp

9 10 11 12 13
D. 4+—F—@—t——tip

5) Which option best shows X < -1
3 2 -1 0 1 2
A.

7) Which option best shows X < 3

1 2 3 4 5
A.

Answers

2) Which option best shows X > 13
10 11 12 13 14 15 1 C
A. o

10 11 12 13 14 15
B. #———0—+—H 2

10 11 12 13 14 15
C. +—+F+—+—-O0——h 3.

10 11 12 13 14 15
D.

4) Which option best shows X < -20
22 21 -20 -19 -18 5

A ¢+——t—O0—F— '
22 21 -20 -19 -18

B. +——t—@——1» 7.
22 21 -20 -19 -18

C. +—F1+—O0——t—p 8.

22 21 -20 -19 -18
D. 4+—F—@—t——tip

oo > o |= > |o

6) Which option best shows X < 7

5 6 7 8 9 10
A.

5 6 7 8 9 10

8) Which option best shows X > 4

1 2 3 4 5 6
A.

Math
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ﬂh Matching Inequalities to Numberlines Name:

Solve each problem. Answers
1) Which option best shows X <0 2) Which option best shows X < 14
3 2 -1 0 1 2 11 12 13 14 15 16 1
A. A. '
3 2 -1 0 1 2 11 12 13 14 15 16
B. ¢<+—t——i—=@——1» B. <+—t——i—=@——» 2.
3 2 -1 0 1 2 11 12 13 14 15 16
C.—+—FO0—+——n C. 3
3 2 -1 0 1 2 11 12 13 14 15 16
D. ¢4+—"F+—"F—@———t> D.
4,
5.
3) Which option best shows X <7 4) Which option best shows X > 10
5 6 7 8 9 8 9 10 11 12 13 5
A. A. '
5 6 7 8 9 8 9 10 11 12 13
B. <++—-rt—@———1» B. 7.
5 6 7 8 9 8 9 10 11 12 13
Cc. 4+———"0—t+—h Cc. 4+—F—0—t—t—4» 8.
5 6 7 8 9 8 9 10 11 12 13
D. 4+——@—+—H D.
5) Which option best shows X < -9 6) Which option best shows X < 19
12 <11 <10 -9 -8 -7 17 18 19 20 21 22
A. A.
12 <11 -10 -9 -8 -7 17 18 19 20 21 22
B. <+—t——i—=@——1 B. +—t—@—F—1—
12 <11 <10 -9 -8 -7 17 18 19 20 21 22
C. C.
12 <11 <10 -9 -8 -7 17 18 19 20 21 22
D. D.
7) Which option best shows X > -18 8) Which option best shows X < -10
20 -19 -18 -17 -16 12 <11 <10 -9 -8 -7
A ¢+——F—0—~1+— A.
20 -19 -18 -17 -16 12 <11 <10 -9 -8 -7
B. ¢t ——> B. +——@—+—1+—"
20 -19 -18 -17 -16 12 <11 <10 -9 -8 -7
C. +—F—O0—t—> C.
20 -19 -18 -17 -16 12 <11 <10 -9 -8 -7
D. 4+—F—@—+—H D.
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ﬂh Matching Inequalities to Numberlines Name. Answer Key

Solve each problem. Answers
1) Which option best shows X <0 2) Which option best shows X < 14
3 2 -1 0 1 2 1 12 13 14 15 16 1 B
A. A. e
3 2 -1 0 1 2 11 12 13 14 15 16 B
B. ¢<+—t——i—=@——1» B. <+—t——i—=@——» 2.
3 2 -1 0 1 2 11 12 13 14 15 16
C. +—+—+—O0———h C. 3z A
3 2 -1 0 1 2 11 12 13 14 15 16
. H———@——t—tp :
D D 4. C
5 B
3) Which option best shows X <7 4) Which option best shows X > 10
5 6 7 8 9 8 9 10 11 12 13 5 B
A. A. C—
5 6 7 8 9 8 9 10 11 12 13 C
B. <++—-rt—@———1» B. 7.
5 6 7 8 9 8 9 10 11 12 13
C. ¢+—F+—O—t—i> C. +—+—O—tmt—ei> 8 B
5 6 7 8 9 8 9 10 11 12 13
D. 4+——@—+—H D.
5) Which option best shows X < -9 6) Which option best shows X < 19
12 <11 <10 -9 -8 -7 17 18 19 20 21 22
A. A.
12 <11 -10 -9 -8 -7 17 18 19 20 21 22
B. <+—t——i—=@——1 B. +—t—@—F—1—
12 <11 <10 -9 -8 -7 17 18 19 20 21 22
C. C.
12 <11 <10 -9 -8 -7 17 18 19 20 21 22
D. D.
7) Which option best shows X > -18 8) Which option best shows X < -10
20 -19 -18 -17 -16 12 <11 <10 -9 -8 -7
A ¢+——F—0—~1+— A.
20 -19 -18 -17 -16 12 <11 <10 -9 -8 -7
B. ¢t ——> B. +——@—+—1+—"
20 -19 -18 -17 -16 12 <11 <10 -9 -8 -7
C. +—F—O0—t—> C.
20 -19 -18 -17 -16 12 <11 <10 -9 -8 -7
D. 4+—F—@—+—H D.
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